Royal Navy Recruit - Numerical Reasoning Practice Test

1) What is the number 55.368 to two decimal places?
A	55.30
B	55.35
C	55.36
D	55.37
E	55.40

2) Add 456 to 9322
A	9678
B	9687
C	9778
D	9787
E	9788

3) What is 40% of 5000?
A	2000
B	2500
C	3000
D	3500
E	4000

4) A garden measures 20m by 15m. What is the area of the garden, in square metres?
A	150 square metres
B	200 square metres
C	250 square metres
D	300 square metres
E	350 square metres

5) Subtract 99.1 from 144.9
A	45.9
B	45.8
C	45.7
D	45.6
E	45.5

6) What is 0.40 expressed as a percentage of 1?
A	4%
B	14%
C	24%
D	34%
E	40%

7) 17.5% of the cost of buying a new printer is VAT. If a new printer costs £50.00 without VAT, then how much is the VAT?
A	£8.75
B	£17.50
C	£50.00
D	£58.75
E	£67.50

8) 77 x 3 = ?
A	211
B	221
C	231
D	241
E	251

9) A ninth of a family’s monthly budget is spent on gas and electricity bills. If the average cost per month of gas and electricity bills is £90 then how much is the monthly budget.
A	£800.00
B	£810.00
C	£890.00
D	£900.00
E	£990.00

10) What is 40% of 500?
A	100
B	150
C	200
D	250
E	300
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